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Fields that require irrigation may be reaped — PR N2 PIRIP

OVERVIEW

The mawn in M teaches that one may reap the fields of a Prwi N3, etc. even
before the "My offering was brought'. mpoIn will examine the reason that it is
permitted.

*

— 919 98P NN NN NNN INY DIPNN RYZUE RUR LY
>"'w4 explained the reason one is permitted to reap the grain in a 1°m?w: n°a before
the harvesting of the 1V is because we derive it by reconciling a seeming
contradiction in one *»05, that from a place where you cannot bring grain for the

oy you are permitted to reap, etc. and from a place where it is permitted to bring the
7MY, you are not permitted to reap before MY NXP.

mooIn anticipates a difficulty:
— 130 99 PNOYN 7Y

And concerning a row no2 and all those which the mwn mentions that they may be

reaped before the MY -
— W5 N3N DN (3,79 91 mrny INIAPN 93 P92 *NoINT 23 HY 9N

Even though we learnt [in a 7awn] in na2ap7 92 poo that if they brought the v

from those places, it is 9> for the 12w, so why are we permitted to reap those fields before
the W (for personal use) since we may use the grain from these fields 72¥°72 for the W 127p.

mooIn responds:
— NYa; NN IRY DIPNN 1Y 13°3WN N2> XY NHNNOYT )15

Since however initially one should not bring from those places, therefore we

consider those places as if they are from a place where you cannot bring grain for
the 1y, and are permitted to be reaped.

' The ~wn nnan was brought (from barely flour) on the second day of ros. This allowed all the ‘new grains’ (that
took root after the previous year’s In¥ was brought) to be eaten.

2 See »u 11"72 where *"wA (merely) cites the X3 there in X,XY nnn.

3 The 109 (in >,3 [M1K] X1p™) begins by saying Ty NX DNXAM 77°¥P NX DN, indicating that 77°¥p may be taking
place even before bringing the °n1y, and the 105 concludes 237°%p N°WX1 My, indicating that the My is the N wXA
037°¢p and no 77°¥p is permitted before nya NEp.

* A prowi ma is one of the places from where the W is not brought. The reason is because its produce was of an
inferior quality. See ‘Thinking it over’ # 3.

> This is amended to read 1nT.
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mMooIN anticipates an additional difficulty:
— 59Y 7aP912) NONR NYNNIY NIPINNTT 315 NION 513 NINNY PN

And one should not wonder, is there indeed such a thing that 7=wn77 2 it is
initially forbidden but if it was done already it is permitted’ —

mooin replies:
"o 1D %1139 29¥Y 1YY 21NN NIYIY 139¥2T NIV 995 NIONT

For there any many instances where it is required that the verse repeat itself
in order to prevent it from being acceptable; for instance by asw7p.

SUMMARY

It is XN»7X77 MMOK initially to bring the My from a Pr%wn N2 (and other places).
Therefore (even though 72y°72 it is w2 if the 7w was brought from a °n%wn N
D7) it is permitted to reap the grain in those places before the Wi n°xp. There
are other instances, such as by 2°w7p, where we find even in Xn» X7 a difference
between (where it is required) 771037 and 72¥°72 (it does not matter).

THINKING IT OVER
1. Is the concept of 25¥% 21277 Yoy 71w limited to °w7p or does it apply to other
areas as well?"

2. Mmoo states that since 79nn2% it is MOX to bring from a Pnown noa it is
considered a awn X°2n 70X XY 2P (even though 72¥°72 it is AMn). However Mooin
previously'' stated that since 72y°72 it is 7w> if the nod was vnwi before the Tnn
(even though 79°mn5Y it is MoX) therefore the noo: 127 is considered at mxn. How
can we reconcile these two seemingly contradictory Nnooin (where here we follow

% mooin assumes that the prohibition to bring the W from a "1 PRYwA N°2 is kN8, For if Xn»1X7» it is 9 to
bring from a Pn>wi n°3, then how can we derive from the 209 that it is 7N to be %7 in a P%wn n*2 before the
amy.

7 The concept of 5rn2% and 725772 is generally associated with laws 7312772 (that initially they are required however
if it was not done so it is acceptable), however concerning 71710 laws they are (generally) a requirement even 72y°72.

¥ See "2 MIX '71 995 20 1Y who comments that the word 1133 is seemingly inappropriate, for 1 is DWwTp.

? The rule by 0w7p is, if the 7770 mentions a certain requirement only once, we assume that it is M¥»% (this is the
optimum way to perform the mxn, however if it was not done, nevertheless the 127p is valid); we see a difference
XN between 77nn37 and 72v°72 .However if the P09 repeats the requirement (21037 19y 7°w), this indicates
that this requirement is necessary and if it is not fulfilled the 127p is invalid 72y>72.

"% See 7 mwn w"x7 NSO

R 77 8,7
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the 75103 and there we follow the T23°72)?!"2
3. Seemingly the reason why we do not bring from a Pn>wn n°2 is because it is not

a7n."? Why then is N0 surprised that it is 72039 790K and 72¥°72 N (this is
how it is by every mzn M)

12 See (> X X,71 2°¥9) o™ wew yaip and SXIMW 127,
13 See footnote # 4.
1 See o7mar no7a.
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